AEYKAAA
Dear Scholars,

This week we will be revising the number's Greek name up To 1000, counting by
1,2,5,10,20,50,100 forward and backward. We will analyze the value of a number
(hundreds, tens, ones) and learn to identify (greater/smaller/equal) 3/2/1 digit
numbers, using symbols (+,-,(),=,>,<)and properties in addition - subtraction
problems. Mental Maths: (Completion of a multiple of 10), (Three/two digit plus a
single/two digit integer), (Two digit minus a single/two digit integer).

Dear Parents,

Your children have been practicing similar exercises in class. Along with the
example given the beginning of each exercise, they are able to complete the task.

Please, remind them to upload the packet on Archie, on Sunday 1/26/2025.
Please, encourage your child o complete the assigned homework.

If you have any questions or concerns, please, contact me through email at:
ilias.papadopoulos@archimedean.org.

Thank you,

Mr Elias Papadopoulos
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Aoknon 1: Kave 1ic mpooOEoeic, Xxpnoigomoiwvrag

TNV mpodctapotiky Wwotnta: a+(Pp+y)=(a+p)+y
OTTw¢ OTO Tapddelypa:

>17+24=17+(3+21)=(17+3)+21=20+21=141
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>26+17=26+(4+13)=(26+4)+13=30+13=43
> 26+55=
> 38+14=
> B3+29=
> 45+36=
> 29+66=
> 67+28=
> 95+77=
> 74+98=

> 33+99=
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Aoknon 2: Kave Ti¢ pooOEoeIC, XpNOIHOTTOIWVTAC

Tnv WBwotra: a+(p+y)=(a+p)+y onwc ovo
Tapadeiypa:

> 348+5=348+(2+3)=(348%2)+3-350+3=353 ¥
> 679+7=679+(1+6)=(679%1)+6-680+6-686 G-
. 156+5=
, 278+4=
. 383+9=
. 453+8=
, 579+6=
, 687+8=
, 795+7=
> 854+8=
. 943+9=
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Aoknon 3: Na Ppeite Tnv a€ia Tou ynyiov ToOU

gival umoypauIoUEVO 0TOUC TTAPAKATW apiBOuolc
OTTWC OTO mapadeiypa:

Ekartovrada Aekada % Movada (I

> 789 / 70 700 - =
> 352 / 5 Exaroviadec 5 Aekadec 5 Movade S
. 894/ 80 800 8

> 465 / 6 Movadec 6 Exkarovradec 6 Aekadec
- 413 / 30 300 3
> 986 / 9 Ackadec 9 Ekartovradec 9 Movadeg
- 555 / 50 500 5
> 179 / 9 Exarovradec 9 Movadec 9 Aekadec
- 457 / 40 400 4

> 313 / 3 Movadec 3 Ackadec 3 Ekartovradec -
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Aoknon 4: Na ypayete TouC apiOpoug OTTWG OTO

Tapadeiypa: A .
M

diakooia dEKa 210

TETPAKOOIA Tpiavra dUo 432

EKATOV €ikoo! £€)
OKTAKOOId TEVAVTA Tpid
Tplakooia eENvra evvéa
e€akooia oydovra Tpia
wEVTAKOola epdopnvra duo
TETPAKOOIA 0YOOVTA OKTW

EMTAKOOIA EVEVAVTA TEOOEPA

EMTAKOOIA 0APAVTA TEVTE
EKATOV EVEVAVTA EmTA
OKTAKOOId WEVAVTA EVVEA

TEVTAKOOIA odpdvTad £vda
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Aoknon 5: ‘BEvwoe Tic TeAeiec peTpwvrac ava duo

(+2) péxpr To ekarov déka Téooepa (114). @
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